
SAP ABAP table TSTATUSCUST_POP {Assignment Table for Profit Simulation in Trading Contract}

TSTATUSCUST_POP

MANDT [CLNT (3)]

TCTYP [CHAR (4)]

DEFAULT_SIM_TC [CHAR (1)]

DEFAULT_SIM_REPO  [CHAR (1)]

T000

MANDT [CLNT (3)]
 TSTATUSCUST_POP-MANDT = T000-MANDT 

0..N

0..N

TB2BE

MANDT [CLNT (3)]

TCTYP [CHAR (4)]

 TSTATUSCUST_POP-TCTYP = TB2BE-TCTYP 
0..N

1

TPROFIT_POPUP2

MANDT [CLNT (3)]

WB2_SIM_INDEX [CHAR (1)]

 TSTATUSCUST_POP-DEFAULT_SIM_REPO = TPROFIT_POPUP2-WB2_SIM_INDEX 

0..N

1

 TSTATUSCUST_POP-DEFAULT_SIM_TC = TPROFIT_POPUP2-WB2_SIM_INDEX 

0..N

1


